
Corre
tions for the book Linear Algebra (3rd ed) by Ri
hard C. Penney(
ontributions by Bill Dunbar, S
ott Allen, Sam Ferguson, Thomas Meyer, Raspberry Simpson, : : : )Page Line Corre
tion4 -2 Swap x and y in Figure 1.18 +16 \ind i
es" should be \indi
es"9 -6 \on page 7" should be "on page 8"12 +20 \dis
ussion of 
ontinuous fun
tions" should be \dis
ussion of fun
tions"34 -1 \y = 1 + s+ t" should be \y = 1 + r + s"42 -2 \
urrent 
ow the same" should be \
urrent 
ow are the same"49 +9 \R4 ! R4 + 3R1" should be \R4 ! R4 + 3R2"52 +1 \R2 ! R4 �R3" should be \R4 ! R4 �R3"53 -9 \R2 ! R2 � 3R3" should be \R2 ! R2 � 3R1"53 -8 \R3 ! R3 +R2" and \R4 ! R4 +R2" should be\R3 ! R3 �R2" and \R4 ! R4 �R2"53 -1 \X3 = [�3; 4; 0℄" should be \X3 = [�3; 4; 0℄t"56 +6 \Sin
e xm is the last pivot variable" should be \Sin
e xm is the last nonpivot variable"57 +9 \x = 1; 000� 10000y = 0" should be \x = 10000� 10000y = 0"70 -1 In Figure 1.27, the labels for East St. and West St. should be swapped.72 -5 \just in our example" should be \just as in our example"79 +10 \if both of the following properties" should be \if all of the following properties"81 +2 \A[2; 3; 4℄ =t [2; 3℄t" should be \A[2; 3; 4℄t = [2; 3℄t"90 +15 \See Exer
ise 32 for the de�nition" should be \See Exer
ise 43 for the de�nition"98 -4 \xiA1 + x2A2" should be \x1A1 + x2A2"111 +10 
he
k mark on 28(a) should be on 28(b)122 +8 \a; b; 
; d 2 R" in 6(a) should be a; b; 
 2 R"132 -1 \equation in (a)" should be \equation in (d)"151 -10 erase \1" between exer
ises 15 and 16169 +17 insert \
ounter
lo
kwise" after \under rotation by 20 degrees"177 -6 (quibble) to mat
h above display, \IA = A = AI" should be \AI = A = IA"195 +15 \and B 2 Rn" should be \and Y 2 Rn"197 +1 \around 43 (2n2) 
ops" should be \around 43 (2n3) 
ops"200 +1 \noninvertibleinvertible" should be \noninvertible"201 -15 
he
k mark in front of 20. should be in front of 19.209 -6 \where m is the row sum in C" should be \where m is the largest row sum in C"212 -2 \i < j" should be \j < i"214 +1 se
ond row [1; 1; 3℄ should be [1; 3; 4℄; third row [2; 3; 6℄ should be [2; 7; 8℄214 +9 \L31 = 3, respe
tively" should be \L31 = 2, respe
tively"215 +3 \Use the LU fa
torization to to" should be \Use the LU fa
torization to"215 -4 \of A11 and A22" should be \of A11 and A21"217 -12 \Lij = 
ij for all 1 � i < j � n" should be \Lij = 
ij for all 1 � j < i � n"217 -4 \in both the (n� 2)nd 
olumn and the (n� 2)nd row is L1n�1;n�1 = 1" should be\in either the (n� 2)nd 
olumn or the (n� 2)nd row is L1n�2;n�2 = 1"224 -3 \X 0 = [x01; x02℄t" should be \X 0 = [x0; y0℄t"229 -7 \ 13 [20; 11; 1℄" should be \ 13 [20; 11; 1℄t"231 -14 \x2(x� 1)00 � x(x� 1)0 + (x� 1) = x" should be \x2(x� 1)00 � (x� 1)0 + (x� 1) = x� 2"231 -13 \= 2 + (x� 2) + 0(x� 2)2" should be \= 0 + (x� 2) + 0(x� 2)2"231 -12 \L((x� 2)2) = x2(x� 1)00 � x(x� 1)0 + (x� 1) = 3� x2" should be\L((x� 1)2) = x2((x� 1)2)00 � ((x� 1)2)0 + (x� 1)2 = 3x2 � 4x+ 3"231 -11 omit231 -10 \= �1� 4(x� 2)� (x� 2)2" should be \7 + 8(x� 2) + 3(x� 2)2"231 -4 �rst row [1; 2;�1℄ of M should be [1; 0; 7℄231 -4 se
ond row [0; 1;�4℄ of M should be [0; 1; 8℄231 -4 third row [0; 0;�1℄ of M should be [0; 0; 3℄232 +16 \W in n-dimensional" should be \W is n-dimensional"1 Revised January 11, 2010



Corre
tions for the book Linear Algebra (3rd ed) by Ri
hard C. Penney233 +16 \L : V ! V" should be \L : V ! W"233 +19 \for all Y 2 V" should be \for all Y 2 W"235 -8 In 5(a), the three given polynomials are linearly independent\12x+ 14x2" should be \10x+ 14x2"?236 +10 \M it is the matrix from formula (3.39)" should be \M is the matrix from formula (3.39)"253 -9 \to express �, Æ, and 
" should be \to express �, Æ, and 
"273 -2 \
oeÆ
ient" should be \
oeÆ
ients"276 +1 \multiplying by T" should be \multiplying by P"280 +9 \In Example 2" should be \In Example 3"280 -13 \e
helon form of the 
oeÆ
ient matrix" should be \e
helon form of the augmented matrix"281 +11 \multipli
ity 2 and � = 2" should be \multipli
ity 2 and � = 3"285 +14 \Use this answer to �nd F8" should be \Use this answer to �nd F9"289 -7 \where X is as in part (
)" should be \where X is as in part (b)"293 -2 \from Theorem 1 and equation (5.2)" should be\from Theorem 1 and the argument above equation (5.10)"300 -5 diagonal entries 2; 2; 3 of D should be 1; 1; 3300 -1 e2t (3 times) should be et303 -2 \formula (5.21)" should be \the above formula"303 -1 In �gure 5.2, the labels x and y need to be swapped308 -5 \the set f[1 + i; 2℄; [2; 2� 2i℄tg" should be \the set f[1 + i; 2℄t; [2; 2� 2i℄tg"313 -4 \= [2; 1℄tj" should be \= j[2; 1℄tj"314 +1 In Figure 6.1, the labels x and y need to be swapped317 +13 \X 0 = [x01; x02; : : : ; x0n℄" should be \X 0 = [x01; x02; : : : ; x0n℄t"328 +2 \for all X 2 S" should be \for all W 2 S"332 -9 \Then, from equation (6.26)" should be \Then, from equation (6.27)"337 -8 after \basis found in Exer
ise 13", insert \IF that basis was orthogonal"339 +15 \+z[4;�2;�2℄t" should be \+z[4;�6;�2℄t"343 -9 \(a) (f; f) > 0" should be \(d) (f; f) > 0"344 +3 \(f; qk) ==" should be \(f; qk) ="344 -1 missing Figure 6.12346 -1 \The proje
tion of V" should be \The proje
tion of V "350 +5 \Legendre polynomials" should be \normalized Legendre polynomials"358 +2 \Let A = [A1; A2; : : : ; An℄t" should be \Let A = [A1; A2; : : : ; An℄"363 -2 \Prove that, AB is orthogonal" should be \Prove that AB is orthogonal"368 +15 \B0 = Proj(B)" should be \B0 = ProjW(B)"369 +5 \for all 1 � i � m" should be \for all 1 � i � n"369 -6 \fourth" should be \�fth"380 +12 \It's proof is left as an exer
ise" should be \Its proof is left as an exer
ise"381 -10 \Sin
 one-by-one matri
es" should be \Sin
e one-by-one matri
es"382 +4 \let X 0 = QX" should be let X 0 = Q�1X"384 +3 \X1, X2, and X2" should be \X1, X2, and X3"385 +2 \that is needed to prove" should be \whi
h is needed to prove"385 +9 \Let B = fX1; X2; : : : ; Xkg" should be \Let B = fX1; X2; : : : ; Xmg"388 -15 \�5x2 + 2y2 � 11z2 � 12xy + 12yz" needs to be set equal to some number392 -13 (quibble) V on page 392 is not the same as V on the following two pages; 
hange former to W461 -7 \28(a)." should be \28(b)."465 -2 \20." should be \19."465 -10 Se
tion 3.3, exer
ise 3g, fra
tion 1=4 should be 1=12467 -13 \Se
tion 4.1.1" should be \Se
tion 4.1"470 +10 \7; 6:5� (3p3=2)I" should be \7; 6:5� (3p3=2)i"471 -2 \One answer is 12" should be \One answer is the solution to 12(a) above"
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